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Physics 102 Quiz #3 Section #:
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Q1.  An aluminium cup of 150 e’ capacity is completely filled with glycerin at 25 °C.
How much glycerin, if any, will spill out of the cup if the temperature of both the
cup and glycerin is increased (o 55 °C?

(The coefficient of volume expansion of ghvcerin is 5.1 x 107/C°, and the
coefficient of linear expansion of aluminium is 23 x 10 /%)
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Q2. When an ideal gas is taken from state i to state f along the curved path ibf, the heat

absorbed by the gas is 200 J and the work done by the gas is 150 J. How much
heat is absorbed by the gas if it is taken along the path icf?
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